A Pearson correlation coefficient was calculated to examine the relationship between students’ views on prohibiting same sex relationship and legalizing same sex marriages.  A moderately strong negative relationship was found (r(363,037) = -0.62, p < 0.01), indicating a significant linear relationship between the two variables. Students who believe that same sex relationships should be prohibited also tend to believe that we should not legalize same sex marriages.

[bookmark: _GoBack]Three things you can determine from a correlation analysis:

1. Strength of the relationship between two variables
a. 0-.3 			weak
b. .3-.5 			moderate
c. .5-.7 			moderately strong
d. .7 and higher 		strong
2. Direction of the relationship
a. Positive value means same direction (increase in one variable means increase in the other; decrease in one variable means decrease in the other) – based on the scale provided in your original item
b. Negative value means opposite direction (increase in one variable means a decrease in the other; decrease in one variable means increase in the other) – based on scale  provided in your original item
3. Statistically significant relationship
a. Learn from our “p” or significance.
b. Less than 0.05 it is significant, which means that the two variables are statistically significantly related
c. Greater than 0.05 – no statistical relationship
